Hjo BS
Onsdag 2021-11-17

Partavling, 6 bord, 11 par. Antal brickor: 22. Medel: 88.0. Frirond (*) ger egen procent.

Plac Par Poéang % Namn MID Klubb
1 11 115.5 65.63  Lennart Johansson - Thomas Blom 1584 13954 Hjo BS
2 4 110.0 62.50  Ronny Eriksson - Jonny Pahlsson 1592 1587 Hjo BS
3 6 102.3 58.13  Kurt Karlsson - Jarl Hallberg 1579 1648  Skovde BA
4 2 91.3 51.88  Tommie Ljungberg - Barbro Warnby 59949 44105 Tibro BK - Hjo BS
5 10 88.0 50.00 Kjell Josefsson - Stig Bergman 1580 83562 Hjo BS
6 3 86.9 49.38  Bo Friberg - Goran Karlsson 68640 67573 Tibro BK
6 8 86.9 49.38  Ingrid Berglund - Kéarsti Martinsson 36230 6180 HjoBS
8 1 78.1 44.38  Ake Davidsson - Per Almstrém 68528 68527 HjoBS
9 5 73.7 41.88  Hartmut Bédicker - Sven-Erik Svensson 65178 79658 Hjo BS
10 9 70.4 40.00 Leif Bjurstrdom - Hans Andersson 48836 67270 Hjo BS - Kolmardens BK
11 7 64.9 36.88  Lennart Pettersson - Lennart Larsson 48833 68533 Hjo BS
1 Nord Ingen 2 Ost NS 3 Syd OV
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
2 8 2NN= &7 120 80 00| 6 3 4vS= &K 620 80 00| 5 1 24 N+2 &7 170 8.0 0.0
5 7 2vS= vK 110 6.0 20(10 9 54DO-3 vA 500 6.0 20|11 10 3v S= aT 140 6.0 2.0
4 11 34 N-1 v8 50 3.0 50| 5 7 440-1 48 50 40 40| 3 9 44 N-1 ¢ A -50 3.0 5.0
6 3 34 N-1 &7 50 30 50 2 8 240= vA -110 2.0 60| 6 8 4vS-1 oT -50 3.0 5.0
10 9 44 N-2 v8 -100 0.0 80| 4 11 24 O+2 *J -170 0.0 80| 7 4 44 N-2 A -100 0.0 8.0
-1 3.6 -1 3.6 -2 4.2
4 Vvast Alla 5 Nord NS 6 Ost OV
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
3 9 1la S+2 v5 140 80 00| 1 11 3NO= ¢ A 400 50 30| 7 9 4v0O-2 a4 200 8.0 0.0
5 1 1lvS+1 &K 110 6.0 20 6 2 3NO= ¢ A -400 5.0 3.0 4 10 3NO+1 *J -630 5.0 3.0
6 8 la S= &T 80 30 50 7 9 3NO= *A -400 5.0 3.0 8 5 3NO+1 &5 -630 5.0 3.0
7 4 1la S= &K 80 30 50 8 5 3NO= ¢ A 400 5.0 3.0 1 11 3NO+2 *6 -660 1.0 7.0
11 10 14 S-1 &T -100 0.0 80| 4 10 3NO+2 ¢ A -460 0.0 80| 6 2 3NO+2 *J -660 1.0 7.0
-2 4.2 -3 4.0 -3 4.0
7 Syd Alla 8 Vast Ingen 9 Nord OV
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 1 3¢ N+2 v9 150 70 10 2 1 24S-2 *Q -100 7.0 10| 6 1 2v S+2 &A 170 8.0 0.0
8 10 3¢ N+2 &8 150 70 10 9 6 24 S-2 *Q -100 7.0 10| 3 2 3¢ 0-1 »2 100 6.0 2.0
7 3 2¢ N+2 vQ 130 40 40| 5 11 3v V= ¢ A -140 3.0 50| 9 11 1&#N-1 v4 -50 4.0 4.0
5 11 2¢ N+1 vK 110 10 70| 8 10 3v V= ¢ A -140 3.0 50 8 4 2¢ 0= *2 90 2.0 6.0
9 6 2¢ N+1 vK 110 1.0 70| 7 3 2¢vV+2 &3 -170 0.0 80|10 7 2NN-3 +3 -150 0.0 8.0
- 4 5.0 - 4 5.0 - 5 34
10 Ost Alla 11 Syd Ingen 12 Vast NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 7 5¢DS= s A 750 80 00(11 8 1a S+l ¢+ Q 110 80 00 9 5 2#S+2 +9 130 8.0 0.0
3 2 3NN+2 vQ 660 6.0 20 4 3 INS= a4 90 6.0 20 4 3 2v0-1 ¢ A 50 40 4.0
8 4 34 S+3 vA 170 30 50 9 5 2vyN-1 *7 50 4.0 40| 7 2 2v0-1 ¢ A 50 40 4.0
9 11 4e S+2 &8 170 30 50(10 1 34S-2 &8 -100 2.0 6.0|11 8 INV-1 ¢+5 50 40 4.0
6 1 4v N-2 v4 -200 0.0 80| 7 2 3NS-5 +Q -250 0.0 80|10 1 3¢ N-1 a5 -100 0.0 8.0
- 5 34 - 6 4.7 - 6 4.7
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 2 4v S= +3 620 80 0011 2 5¢V-1 4 A 50 80 00[11 7 2¢ O+2 &K -130 8.0 0.0
1 9 3¢V-2 »2 200 6.0 20 8 3 54DN-1 ¢ A -100 6.0 20| 6 5 4¢ O+1 a K -150 6.0 2.0
8 3 2vS+1 46 140 40 40| 1 9 3¢ V+3 »8 -170 40 40| 1 3 INO+4 48 -210 4.0 4.0
5 4 3vS-1 46 -100 2.0 60| 5 4 5¢V= vA 400 2.0 6.0 2 10 5¢ O= 48 -400 1.0 7.0
10 6 4v S-2 46 -200 0.0 80|10 6 5¢ V+1 s A -420 0.0 80| 9 4 3NV= v9 -400 1.0 7.0
-7 3.0 -7 3.0 - 8 4.0
16 Vast OV 17 Nord Ingen 18 Ost NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 5 4v S+1 aT 450 70 10| 3 11 3v0-1 &K 50 70 1.0( 1 8 INV= a2 -90 8.0 0.0
11 7 4v S+1 48 450 70 1010 5 4v0-1 A 50 70 10(10 5 INO+1 *9 -120 6.0 2.0
1 3 3vS+l T 170 30 50 2 4 3v0O= &A -140 4.0 40| 2 4 INO+2 v3 -150 2.0 6.0
9 4 2v N+2 aT 170 30 50( 1 8 3NS-3 v6 -150 2.0 6.0| 3 11 INV+2 *4 -150 2.0 6.0
2 10 34 0-1 &A 100 00 80| 7 6 2vO+2 &A -170 0.0 80| 7 6 INV+2 *4 -150 2.0 6.0
- 8 4.0 -9 3.2 -9 3.2
19 Syd OV 20 Vast Alla 21 Nord NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 9 3NN+4 a4 520 80 00| 2 9 3NN+2 a2 660 70 10| 4 6 64 V-1 vT 50 8.0 0.0
4 1 54S= v6 400 6.0 20| 8 7 3NN+2 a2 660 70 10| 3 10 3NV+2 v3 -460 5.0 3.0
8 7 2¢ N+3 a4 150 30 50 3 5 3NN+1 &6 630 20 6.0 5 2 3NV+2 v3 -460 5.0 3.0
11 6 44 S+1 vQ 150 30 50 4 1 3NN+1 v5 630 20 60 9 8 44V +2 +8 -480 2.0 6.0
3 5 6&S-1 &8 -50 0.0 80|11 6 3NN+1 a2 630 20 60 1 7 64 V+1 +8 -1010 0.0 8.0
- 10 4.0 - 10 4.0 - 11 5.3
22 Ost OV
Par Kontr Ut Res Poang
4 6 34DN+1 vA 630 8.0 0.0
9 8 24 S+1 &3 140 6.0 2.0
1 7 24 N= &7 110 40 4.0
3 10 2¢v0O-1 a5 100 20 6.0
5 2 44 N-1 vA -50 0.0 8.0
- 11 5.3
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